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1) 3127. Haiitu S—Z u % ecn Z=X2y—Yy?X, X=UcosV, y=usinV.
u

2) 3126. Haiitu %, ecim z =arcsin(X—Y), x=3t, y=4t>.
3) 3131. Haiitu a—u, ecln u=arcsin(§j, z=~x>+1.
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Jlokazatb, 94TO0 QyHKIHS Z = arctg(;} rne X=Uu+Vv, Yy=U-V, yIoBle-

07 02 u-—v
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5) 3152. Haiitu ﬂ, €CIIH arctg(u) Y 0.
dx a a

dy  a’

OrBeT: —

A (x+y)*

6) 3155. Haiitu %, ecmn Y~ =x7.
X

dy y*Iny—yx’"

OtrBeT: — = ] :
dx  xy*7 —xYInx
7) 3164. Haiitu a u @, ecin e- —xyz=0.
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oz yz 0z Xz

OrBeT: — = , — = .
X ef-xy oy ef-xy
8) 3163. Haiitu % 1 Q e z° +3xyz =a’.
X
oz -3yz oz -3xz

OrBer: —=— s =Ty
OX 3z°+3xy OY 3z°+3xy

9) 3114. Bbluncauth NpuOIHKEHHO ln(3q/1,03 +%/0,98 — 1).
OtBet: 0,005.

10) Beruucauths npuOInNKEeHHO \/1,023 +1,97° .
OtBet: 2,95.
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